Archna Gupta

HW#9

Image Processing

Question

Develop an algorithm similar to 4-connectivity for 8-connectivity of components.

Answer
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The first figure above shows the center point’s 8-connected components. 
We assume that points a, b, c, d and e have been visited and labeled.

Now we visit point e:       If e=0: no action but if e=1: check a, b, c and d.

– If a, b, c and d = 0; assign new label to e;

– Only one of a, b, c or d is a 1, assign its label to e;

– If any more than one of a, b, c or d is labeled then:

• Same label => assign it to e;

• Different labels => assign one of them to e and establish equivalence between labels (they are the same.)

Second pass over the image to merge equivalent labels.

An example using 8-connectivity is as below:
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After labeling:
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